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Multiple Choice Questions (MCQs)
(for 3" Term)
CLASS: V
SUBJECT: ENGLISH LANGUAGE

Elements of a sentence:
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Question 1)
Question 2)
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Question 4)

Question 5)
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A has a subject and a predicate.
(a) sentence (b) group of words (c) none of them
The tells us what the sentence is about.
(a) predicate (b) subject (c) none of them
The is that part of the sentence which gives us information about the subject.

(a) subject (b) predicate

The entity that is acted up on by the subject is called an

(a) object (b) predicate

The object receives the effect of the verb and is often placed after the
(a) main verb (b) subject

The object does not perform the action like the subject. It receives the

(a) main verb (b) action

Hari ate carrots. is the subject of the sentence.

(a) Hari (b) ate

Ruby switched on the light. is the subject of the sentences.
(a) Ruby (b) switched

Maya is waiting at the bus stop is the subject of the sentence.

(a) bus stop (b) Maya
She is an obedient girl. is the predicate of the sentence.
(a) is an obedient girl (b) she

The bravery of the villagers saved the elephant.
(a) Saved the elephant (b) the bravery of the villagers
All the teachers of my school are very cooperative.

(a) all the teachers of my school (b) are very cooperative

India is a secular country. is the predicate of the sentence.

(a) India (b) is a secular country
That girl can draw well. is the subject of the sentence.
(a) That girl (b) can draw well

Simi and Polly went to watch a play. Simi and Polly is the of the
(a) subject (b) predicate
Short and exciting was the vacation.

(a) short and exciting was (b) the vacation
Standing on the bench were four naughty boys.
(a) four naughty boys (b) standing on the bench

The girls cleaned the garden. is the object of the sentence.

is the subject

(c) none of them

(c) none of them

(c) predicate

(c) none of them

(c) carrots
(c) light
(c) none of them

(c) none of them

is the predicate of the sentence

(c) none of them

is the predicate of the sentence.

(c) none of them
(c) none of them
(c) none of them

sentence.
(c) none of them

is the predicate of the sentence.

(c) none of them
of the sentence.
(c) none of them
(c) none of them
(c) none of them

(c) none of them

(c) none of them

(a) girls (b) garden

Joya washed the dish. is the object of the sentence.

(a) Joya (b) dish

Kusum helped her sister. is the object of the sentence.

(a) Kusum (b) sister

My mom picks me up from school. is the subject of the sentence.
(&) My mom (b) school

You look happy. is the predicate of the sentence

(a) You (b) look happy

My brother needs some help.
(a) My brother
The kid drank the milk.

is the predicate of the sentence
(b) needs some help
is the subject of the sentence

(a) The kid (b) the milk
He is a good friend. is the subject of the sentence
(a) He (b) friend

| don't like sweets.
@l

The grass is green.
(a) The grass

is the predicate of the sentence
(b) don't like sweets
is the subject of the sentence
(b) green
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[Sentences: Questions and Answers)
kinds of sentences.
(b) five
are some times called declarative sentences.
(a) statements (b) questions
are also called interrogative sentences.
(a) questions (b) commands
can also be called exclamatory sentences.
(a) commands (b) exclamation
can also be called imperative sentences
(a) commands (b) statements

There are
(a) four

(c) none of them
(c) none of them
(c) none of them
(c) none of them
(c) none of them

(c) none of them

(c) none of them
(c) commands

(c) exclamations
(c) none of them

(c) none of them



Question 6)

Question 7)

Question 8)

Question 9)

Question 10)
Question 11)
Question 12)
Question 13)
Question 14)
Question 15)
Question 16)
Question 17)
Question 18)
Question 19)
Question 20)
Question 21)
Question 22)
Question 23)
Question 24)

Question 25)

Question 1)
Question 2)
Question 3)
Question 4)
Question 5)
Question 6)
Question 7)
Question 8)
Question 9)
Question 10)
Question 11)
Question 12)
Question 13)
Question 14)
Question 15)
Question 16)
Question 17)

Question 18)
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has turned on the television?

(a) who (b) how
do you like this programme?
(a) How (b) whose
don’t we change to channel 5?
(a) why (b) which
programme is an channel 6?
(a) which (b) what
does the programme start?
(a) when (b) where
is the remote control?
(a) what (b) when
video is this? Ravi's ?
(a) which (b) whose
would you like to watch the news or the tennis match?
(a) what (b) where
are you going there?
(a) why (b) which
The garden is lovely. Add question tag to this sentence
(a) isn'tit? (b) isit?

She was late , Add question tag to this statement.

(a) wasn't she? (b) was she?

Ashok has gone. Add question tag to this statement.

(a) hasn't he? (b) haven't he?

You know his address. Add question tag to this statement.
(a) don't you? (b) doesn’t you?

They invited you. Add question tag to this statement.

(a) didn't they? (b) did they?

Your father doesn’t smoke. Add question tag to this statement.
(a) does he? (b) doesn't he?

Mary can’t type. Add question tag to this statement.

(a) can she? (b) can't she?

You didn’t meet him? Add question tag to this statement.
(a) did you? (b) didn’t you?

You are late. Add question tag to this statement.

(a) aren’'t you? (b) are you?

Let's go to the beach, Add question tag to this statement.

(a) shall we? (b) shan't we?
It is hot. Add question tag to this statement.
(a) isn'tit? (b) is not it?
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(Voice)

We make ice cream from milk. This statement is in voice.
(a) active (b) passive
Ice cream is made from milk. This statement is in voice.
(a) passive (b) active
Minu can do this work. This statement is in voice.
(a) active (b) passive
This work can be done by Minu. This statement is in voice.
(a) passive (b) active
He gave me a pen. This statement is in voice.
(a) active (b) passive
| was given a pen by him. This statement is in voice.
(a) active (b) passive
Bee make honey. This statement is in voice.
(a) active (b) passive
Honey is made by bees. This statement is in voice.
(a) passive (b) active
The maid is washing the plates. This statement is in voice.
(a) active (b) passive
The plates are being washed. This statement is in voice.
(a) active (b) passive
Kunal took my pen. In this statement who is the doer of the action.
(a) Kunal (b) pen
Tom ate the cake. In this statement what is the verb.
(a) ate (b) cake

(c) when

(c) where

(c) when

(c) whose

(c) why

(c) where

(c) who

(c) which

(c) none of them
(c) none of them
(c) none of them
(c) none of them
(c) none of them
(c) none of them
(c) none of them
(c) none of them
(c) none of them
(c) none of them
(c) none of them

(c) none of them

(c) none of them
(c) none of them
(c) none of them
(c) none of them
(c) none of them
(c) none of them
(c) none of them
(c) none of them
(c) none of them
(c) none of them
(c) none of them

(c) Tom

Mr. Chandran wrote many books. In this statement who is the doer of the action.

(a) Mr. Chandran (b) wrote

The thief has been caught. This statement is in voice.
(a) active (b) passive

Hens lay eggs. This statement is in voice.

(a) passive (b) active

The old women was knocked down by a lorry. Who is the doer of the action in this statement.

(a) Old women (b) lorry
Her bag has been stolen. What is the verb in this statement.
(a) has been stolen (b) has been

(c) many books
(c) none of them
(c) none of them
(c) knocked

(c) has

The letters were typed by Anita. Who is the doer of the action in this statement.

(a) Anita (b) letters

(c) were typed
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Gopal has fed the dog. The passive voice of this statement will be —
(a) The dog has fed by Gopal (b) The dog has been fed by Gopal (c) none of them
A tiger was seen in the woods. The active voice of this statement will be —
(a) People see a tiger in the woods (b) people saw a tiger in the woods (c) none of them
They were repairing the road. The passive voice of this statement will be —
(a) The road was being repaired (b) the road are being repaired (c) none of them
They had sold out the tickets by that time. The passive voice of this statement will be —
(&) The tickets has been sold out by that time
(b) The tickets had been sold out by that time
(c) None of them
The Guptas will be invited. The active voice of this statement will be —
(&) 1 will invite the Guptas (b) Iinvites the Guptas
You can contact the manager. The active voice of this statement will be —
(a) The manager can be contacted (b) the manager can contacted
The tree was cut down. What will the verb in this statement.

(c) none of them

(c) none of them

(a) cut (b) cut down (c) was cut.
Chapter — 15
(Punctuation)
The is used at the end of a sentence which is not a question or an exclamation.
(a) full stop (b) question mark (c) none of them
The is used at the end of a direct question.
(a) question mark (b) full stop (c) exclamation mark
The is mainly used to separate words in a series or list.
(a) comma (b) full stop (c) exclamation mark
The is mainly used to separate words in a series or list.
(a) comma (b) full stop (c) exclamation mark
The are mainly used to show the actual words spoken.
(a) inverted commas (b) commas (c) none of them

The is used in the possessive form of nouns.
(a) commas (b) Apostrophe

are mainly used at the beginning of every sentence.
(a) capital letters (b) small letters
Choose the correct option —
(a) 1 got up late today.
Choose the correct option —
(@) Switch off the television and do your work.
(b) Switch off the television and do your work
(c) None of them
Choose the correct option —
(a) why are you late?
Choose the correct option —
(a) Have you learnt to use the Internet?
(c) None of them
Choose the correct option —
(a) what a good idea!
Choose the correct option —
(a) Bravo! Well played.
Choose the correct option —
(a) How tall you have grow
Choose the correct option —
(&) 1 have bought beans and carrots and onions
(c) None of them
Choose the correct option —
(&) Mac, what are you doing here? (b) Mac what are you doing here?
Choose the correct option —
(a) come in Divya, and sit here.
Choose the correct option —
(&) You are joking, aren’t you?
Choose the correct option —
(a) The girl's bag
Choose the correct option —
(&) I'm
Choose the correct option —
(a) A Tale of Two Cities
Choose the correct option —
(&) Turn off the television, Arjun.
Choose correct option —
(&) Mac, is your brother isn’t he?
Choose the correct option —
(&) The manager said, you are late again
(c) The manager said, “You are late again.”
Choose the correct option —
(a) “Have you finished your homework” he asked
(c) none of them

(c) inverted commas
(c) none of them

(b) 1 got up late today (c) none of them

(b) Why are you late (c) none of them

(b) Have you learnt to use the Internet

(b) what a good idea (c) none of them

(b) Bravo! Well played (c) none of them
(b) How tall you have grown! (c) none of them

(b) I have bought beans, carrots and onions

(c) None of them
(b) Come in, Divya, and sit here. (c) Come in Divya and sit here.
(b) You are joking, are you? (c) None of them
(b) the girls bag (c) none of them
(b) I am (c) none of them
(b) A tale of two cities (c) none of them
(b) Turn off the television Arjun.  (c) None of them
(b) Mac is your brother isn't he? (c) Mac, is your brother isn't he.

(b) The manager said, “You are late again”

(b) “Have you finished your homework?” he asked
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